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1. ROBZIL—PZEDTICRLETL,

(1) V484 (2) V784 (3) V2025
=V22x112=2x11 = V2% x 2% x 72 =132 x32x52
=22 —2x2x%x7 =28 =3x%x3x%x5 =45
(1) 22 (2) 28 (3) 45

2. ROBHLEABUICLBIT-HD—BNSHE nZRHBEITL,

W=t DOFRDN FFE (= BHOD2E) TRNODBEABELBDLSBBAR Z2KDB

(1) V90n 2) V392n

90n =2X3X3X5%xn 3921 = 2X2X2X7X7Xn
n=2xX5HW R/ NDEKETD n=2DRNDOEKLTS

3) V73501

7350n = 2X3XHXHX7X7Xn
n=2x3=6hmNDEKLED

(1) 10 ) 2

3) 6

3. ROHHEABELELSBARA~ DIEZITRTRDBEL,
W=t DFRDN FHE (= BED2E) CBBE50BA R 2KDB

(1) V20 -4 2) V28 -2a @ |
20-4=v16=4 V28-2x6=128-12 a
V20-11=vV9=3 —Vie=V42 =4 0 _ -2 =2
V20-16=V4=2 V28-2x12 =V28-24 15
20-19=V1=1 —Vi=v22=2 %:{:Wﬂ
(1)a = 4,11,16,19 2)a =612 (3)a = 15,60




